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Soustraction (Horizontale)

Nom:

Résoudr e chaque probleme.

1) 263 - 27 =

2) 804 - 621 =

3) 284 - 7 =

4 90 - 49 =

5) 449 - 3 =

6) 73 - 46 =

) 13 - 6 =

8 4 591 - 843 =

9 8 368 - 7 122 =

10) 7 283 - 3 686 =

11) 8 575 - 42 =

12) 1 037 - 92 =

Réponses

10.

11

12.
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Soustraction (Horizontale) Nom: Clé
Résoudr e chaque probléme. Réponses
1 236
1) 263 - 27 = 236
2 183
2 804 - 621 = 183 3 277
4. 41
3 284 - 7 = 277
5. 446
4 90 - 49 = 41 ° 27
7. /
5 449 - 3 = 446 . 3748
9. 1246
6) 73 - 46 = 27
10. 3597
) 13 - 6 = 7 1. 8533
12. 945
8 4 591 - 843 = 3 748

9)

10)

11)

12)

8 368

7 283

8 575

1 037

- 7 122 = 1 246
- 3 686 = 3 597
- 42 = 8 533

- 92 = 945
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C:# Soustraction (Horizontale) Nom:

Résoudr e chaque probleme. Réponses
27 277 41 1 246 183
3748 3 597 7 446 236 1.

1) 263 - 27

2) 804 - 621 =

3 284 - 7 = &

49 90 - 49 = 8.

5) 449 - 3 = o

6) 73 - 46 =

) 13 - 6 =

8 4 591 - 843 =

9 8 368 - 7 122 =

10) 7 283 - 3 686

M odifié 1-10 90|80 70|60 |50]40]30]20[10] O |
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